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3HQHOLWLDQ LQL EHUWXMXDQ XQWXN PHQJHWDKXL LVX� SROLWLN� GDODP� 3HPLOLKDQ�
3UHVLGHQ ���� GL�PHGLD�VRVLDO :KDWV$SS� %HUDSD EDQ\DN�\DQJ�PHPELFDUDNDQ LVX�
WHUNDLW GHQJDQ )LJXU�� .HDJDPDDQ�� 3HQGLGLNDQ�� 3HPHULQWDKDQ�� 3HUHNRQRPLDQ��
3HUWDKDQDQ� GDQ� .HDPDQDQ�� 3HPLOLKDQ� 8PXP�� 3HPEDQJXQDQ�� 0HGLD� 0DVVD��
+XNXP� GDQ� 6WUDWHJL� 3ROLWLN GDODP SHQ\DPSDLDQ LVX SROLWLN� SDGD� 3HPLOLKDQ
3UHVLGHQ� ����� GL� PHGLD� VRVLDO :KDWV$SS�� NKXVXVQ\D� GL� JUXS� ³.(/8$5*$�
%6$5�8.:3�62632/´�GDQ�³813�.LWR %DVDPR´��

-HQLV SHQHOLWLDQ LQL PHUXSDNDQ SHQHOLWLDQ NXDOLWDWLI GHQJDQ PHODNXNDQ
DQDOLVLV LVX SROLWLN WHUKDGDS VXPEHU�GDWD�\DNQL NXPSXODQ�FKDW�FKDW \DQJ�WHUGDSDW�
GL� PHGLD� VRVLDO�:KDWV$SS \DQJ� WHUNDLW GHQJDQ 3HPLOLKDQ 3UHVLGHQ� ����� \DQJ�
VHVXDL GHQJDQ SHQHOLWLDQ LQL� 3HQHOLWLDQ LQL GLODNXNDQ GHQJDQ WHNQLN &RQWHQW�
$QDOLV\V GDWD� LVX SROLWLN�� 'HQJDQ PHODNXNDQ DQDOLVLV PDND GDSDW GLWHPXNDQ
EDKZD EDQ\DNQ\D LVX SROLWLN�\DQJ�EHUVLIDW�SDGD�NHOXK�NHVDK�PDKDVLVZD�WHUKDGDS�
PDVD�3HPHULQWDKDQ�-RNRZL SHULRGH�SHUWDPD�

+DVLO� SHQHOLWLDQ GLWHPXNDQ EDKZD LVX SROLWLN� \DQJ� SDOLQJ� GRPLQDQ
GLELFDUDNDQ DGDODK NDWHJRUL SHPHULQWDKDQ� \DLWX VHEHVDU�������� KDO�\DQJ�EDQ\DN
GLELFDUDNDQ \DLWX PHQJHQDL NHEXUXNDQ�NHEXUXNDQ� SDGD� PDVD� SHPHULQWDKDQ�
-RNRZL VHODPD� �� SHULRGH� \DQJ� ODOX�� 6HODQMXWQ\D EDQ\DN GLWHPXNDQ� MXJD
0DKDVLVZD�8.�:3�62632/� \DQJ� NRPHQWDUQ\D�PHQMDWXKNDQ� SLKDN� ODZDQ�� KDO
LQL� GDSDW� GLOLKDW� GDUL� EDQ\DN� 0DKDVLVZD� 8.�:3�62632/� \DQJ� GDODP�
SHPELFDUDDQ�GL�JUXS�:KDWV$SSQ\D�\DQJ�PHPLKDN�NHSDGD�3UDERZR�WDQSD�PHOLKDW�
VLVL� SRVLWLI� \DQJ� DGD� SDGD� -RNRZL� /HELK ODQMXW�� MXJD� GLWHPXNDQ� PDVLK� DGDQ\D�
WXWXU� NDWD� PDKDVLVZD� \DQJ� NXUDQJ� EDLN GDODP� PHQ\DPSDLNDQ� DVSLUDVLQ\D� GL�
PHGLD�VRVLDO��NKXVXVQ\D�GL�JUXS�:KDWV$SSQ\D�

.DWD�.XQFL�� LVX� SROLWLN�� SHPLOLKDQ� SUHVLGHQ��PHGLD� VRVLDO�PDKDVLVZD�� DSOLNDVL�
ZKDWVDSS


